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Zte sin cos tan
44 0.6947 0,7193 0.9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1,0355
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@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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BC = V122 + 42 = V160 = 4V10
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SINY = — = — — ——
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COSY = — — ——— —
BC 4v10 V10
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tanx = — = — =3
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8.  sin(3A-45°) = cos (5 + 15°) A o], tan A xtan B 9] =2 L5HH?

(T, 15° < A < 45°,0° < B < 90°)
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sinx = cosx 21 x = 45° o[t}
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w2hA tan A X tan B = tan 30° X tan 60° = 75 x V3 =1 o]t}
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Zte sin cos tan
10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1,1918
70° 0.9397 0.3420 2,7475
89° 0.9998 | 0,0175 | 57,2900
H7]

@ sin20° = 0.9848
© tan50° = 0.6428

1
@) 3 cos70° = 0.8192

© cos45° =0.7071

® 2sin10° = 0.3420

® 3tan45°=3
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@sin 20 ° = 0.3420
© tan50° = 1.1918

®2sin10° =2x0.1736 = 0.3472
1 1
@5 cos70° = 3 % 0.3420 = 0.1710
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AP o] Al Wztel 2719 92 180° o] B2
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3 5
whabA] sin 45° = ‘/7_ cos 45° = ‘/7_ tand5° = 1 o]o=

SinA + cosA +tanA = 1+ V2
wetA a+ b O gL 2 olck,
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